<anfEIrE>

[(EXEREMH ]
(iEAE] |EEE 71 62.3%
S—ERRHEEE 17 14.9%
AJLIs— 2 1.8%
Z Dt 24 21.1%
EAEIRS 0.0%
&t 114]  100.0%
(m=xE] |EFREHK 9,759 32 3%
ShF AEK 3,153 o
(X] Fi& 9 7.9%
3 7 6.1%
it 12 10.5%
[ii] 7 6.1%
aakul 9 7.9%
th 7 6.1%
RB#D 6 5.3%
InfE 6 5.3%
EH 5 4.4%
gl 9 7.9%
bess 3 2.6%
2] 6 5.3%
SFLU 7 6.1%
& 9 7.9%
BE 9 7.9%
= 3 2.6%
=1 114]  100.0%
(BFEEEMMENREHIKR]
BESEMMEI 10 8.8%
BESEMMED 33 28.9%
BESEMMED 3 2.6%
BESEMMEN 0 0.0%
EELTLEW 68 59.6%
&t 114]  100.0%
Sk AT B (2D U ootk
-(0.0H)  SMEEMEERTH (FIRELAETY)
18 2m 34 45 5m
TETLVEL TETLS
(i) (B
RS DEE2GIICTEER A

QEF:D

(5]

(X]

(ENEEE]

[REAE]

[A—H—(FAE) B ]

Bt 634 26.7%
Eoq 1,454 61.3%
i EIES 285 12.0%
&t 2,373]  100.0%
40iF%~64 % 67 2.8%
65k ~74% 296 12.5%
75%~79% 372 15.7%
80 ~84m% 573 24.1%
85 ~94i% 950 40.0%
95k LI E 92 3.9%
EmME 23 1.0%
&t 2,373]  100.0%
FiE 209 8.8%
3 126 5.3%
it 254 10.7%
[i] 178 7.5%
th At 192 8.1%
th 95 4.0%
RE#0 103 4.3%
g 142 6.0%
E\H 93 3.9%
=01l 166 7.0%
& 75 3.2%
53] 153 6.4%
SFLU 140 5.9%
% 172 7.2%
BE 142 6.0%
PN=! 75 3.2%
ZDith 40 1.7%
ERE 18 0.8%
&t 2,373]  100.0%
EXE1 378 15.9%
EXE2 698 29.4%
ENiE1 282 11.9%
ENig2 455 19.2%
EiES 219 9.2%
ENiE4 118 5.0%
ENiES 143 6.0%
RS 5 0.2%
EME 75 3.2%
&t 2,373]  100.0%
A 1,524 64.2%
RRERE 356 15.0%
ElEER 285 12.0%
ZNith 103 4.3%
ERE 105 4.4%
&t 2,373]  100.0%




